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CHAPTER 8
CARTS & WHEELS

Ques.1 Which will swept a bigger circle - a door or a small window?
Th T gRT ST Tl I - Ueh SalTst g1 AT Bl ggeht gRT ?

Ques.2 To make the top spin well, where will you make the hole?

Ques.3 Give the answers of following: -

I ST

a) Length of BC = Cm.
BCHI TEE=_____ 9dr|

b) Length of FG = Cm.
FGwiemre=__ 9|

c) Length of EG = Cm.
EGoiemars=__ 4l

d) Length of AD = Cm.
AD®iTmrE=__ G|

If all the inner circles have equal radius = 6 cm.

IR Gt 3L o TieA ot oo = & A1 7 |

Ques.4 If OC =5 Cm and separation between the circles is equal =7 Cm,
find:-
g 37 G = W YEY 3T Tl et TH R T 3T6HT ST6RT & o AT hifsTy |

a) Length of CD = Cm.
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CDiemaR=___ T |
b) Length of BE = Cm.
BE®imaE=___ o
c) Length of BO = Cm.
BOsmiommg=__ @ﬁﬂ
d) Length of AF = :
AF@iem=__ @ﬁf\
e) Length of AE = Cm.
AE®omé=_____ 4|

Ques.5 Write four things which can be used to trace circle?
TG IR =S STy A e () ST ST e |

Ques.6 If two goats are tied to a pole in a ground. Which goat will trace
bigger circle if the length of rope of second goat is greater?

e 1 THRAT ol Ueh T T sty I S0 df fohg sIshdt §RT 12T el s |
I TR TR TS SR A T T |

Ques.7 Solve these:-

TA I |
a) 4x2Cm= Cm.
¥ X R gHr = 94T |
b) 8x7.5Cm= Cm.
¢ X 9.4 Tat |

Ques.8 Solve these:-
T hITSTq: -
1. radius = 4cm, diameter =

oo = ¥ 9, = =

Downloaded from www.studiestoday.com



Downloaded from www.studiestoday.com

2. radius = 6¢cm, diameter =

orear = s, = =

Ques.9 look at the picture and answer the following:-
FersT ot ST ST AT |

1. The centre of the small circle
DI A ol ohes;
2. The name of a smaller radius and its length ,

ST Tiet i 9T T 919 oqreT | ﬁ?wﬁmréﬂﬁ\
3. The length of a large radius
IS TNl ot 1541 ohl oTaITE oIqTe |
4. which is bigger:-
FTTSTE |
a. OA
b. OB
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ANSWERS

Ans.1 A door.
YAt BT |

Ans.2 At center.
AnNs.3

a) 12 Cm.
R
b) 12 Cm.

c) 18 Cm.

d) 24 Cm.
Ans.4

a) 10 Cm.

b) 24 Cm.

c) 12Cm.

d) 38 Cm.

e) 31Cm
Ans.5 Bangle, coin, glass, plate.
Ans.6 Second goat.

Ans.7
a) 8Cm.

b) 60.0 Cm.
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Ans 8
a) 8cm
b) 12 cm
Ans 9
a)0
b)OA and 4 cm
c)5cm
d) <
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